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UE—2, N7

4x4, Addition

11+ o+ ) [11+ 6+ Y [11+ 6+ )
1 ot || 2 4+ 1 O+
3+ O+ 3+ 10+ 3+ O+
B+ 4+ 5+
- J \\ J \\ J
4+ o+ ) |4+ o+ ) |6+ 4+ )
6+ 1 [4+] |3+ 3| 7+] 4+ > /+
7+ 7+ o+ | 8+ 7+ | 4+

o+ 3+ o+
o J U J U J
2 [T0+ ) ) )
o J U J U J




URE— 2, 7 ﬁzﬁ

4x4, Addition/Subtraction

B+ 10+ O+ o+ ) |4+ 10+ )
2 2-11 2 1-114 o-
o+ o+ o+ 4+ B+ 4+
1- 7+ 7+
. J \\ J \\ J
1- - Y|6+ 44 Y| 7+ - )
7+ 2|1 1-114+ 211312 2|7+
o+| 7+ 3- 18+ 3+ |10+

5+ o+ 4+
- J J v

™) ™) ™)

- J J v




U B%_E, 33 5£ 4x4, Multiplication
2 247 Y [48 47 ) [32 9 T )
4 ® 1 12 1
12 4 2 12 6 32
® 0 3
o _J J U J
3 8 | 8 3 3| 8 3 )
2 416 3 412 12 2
121 8 2 | 36 2
3 8 8
\_ J J _J
) ) )
\ J J L _J




4x4, Multiplication/Division

g —&2, FebRiE
)

16x Ox 32x 3x ) |18x 16x )
2 12x1 | 3 8x 1 Ox
3+ 8x 3+ 24 x 4+ ?
Ox 2+ 2+
\_ J J \_ _J
Ox 4+ ) | 6x 4+ Y |2+ 12x )
12x 112+]]|2+ 4 | 3+| | ox 112+
4+ | Bx 4dx | 24x 4x | 36x

Ox Ox 2+
" JAS JAS D

) ) )

" JAS JAS D




Ut B%_E, Ut ,\I. 4x4, Full Math Operation
18x 7+ ) [2x 11+ ) |32x 5+ h
4 2+1 1 3 -11 3 1-
3- 36x 2+ 2x 2+ 32x
o+ 7+ 3+
\_ J J \_ _J
3+ o= ) [4= -1 ) [6x 4+ )
2+ 3 | 3+| | 6x 1 | 8x| |4+ 2 | 7+
6x | O+ 3+ [ o+ 7+ | 4+

2X 3- 1-
L J J J

) ) )

- J J J




Uk — 2, N7

4x4, 2 stars, Addition

O+ 5+ ) [ 8+ 8+ ) |9+ o+ )
2 7+ 1 7+ [ 2 A+
b+ 8+ 4+ b+ b+ 10+
4+ /+ 4+
- J \\ J \\ J
6+ 4+ ) |5+ o+ ) |5t b+
/+ 1 | 5+] | 5+ 3 | 3+| |5t 117+
4+ | 7+ 7+ 7+ 3+ | 9+
o+ 5+ 5+
- J L J y
B B )
- J J y




jL B% : ’EEE, 7]” 3@ 5£ 4x4, 2 stars, Addition/Subtraction

6+ O+ )[4+ 9+ |10+ 4+ )
4 4+ 11 4 -11 2 7+
3- 7+ 7+ 6+ 3+ O+
5+ 1- 3-
- J \\ J \\ J
o+ - |4+ - |2 o+ )
3- 3|2-1]5+ 3 |5+ 1- 1|3+
b+ | 6+ 1- |7+ 3+ 9+

3- 5+ 7+
o J U J U J

) ) )

o J U J U J




JU B% : EEE, EE 5£ 4x4, 2 stars, Multiplication
16 2 Y|12 4 31! 8 ® A
3 3 4 0 4 12
2 16 4 24 ® 8
6 3 3
- v y J
12 2 11| 6 4 11| 3 8 )
8 1112113 416 2 41 6
3|6 8 8112
8 3 3
- J U W W
) ) )
- J U W W




JU B% : EEE, EE B;% 5£ 4x4, 2 stars, Multiplication/Division
12x 8x| ) |36x 4x Y 124x 3x )
3 2+ 1 4+11 2 2+

2+ Ox 8x 36x 3+ 24 x
o+ P+ 4+
\_ J J \_ _J
12x 2~ |2+ 3+ ) [3+ 2+ )
4+ 2 1124 | 3+ 4 | 2+ | 6x 4 | 2x
6x | Ox 12x| 6x 2+ |12x
4+ o+ 3+
L J J J
) ) )
- J J J




}L B% : ’EEE, }L /\I. 4x4, 2 stars, Full Math Operation
7+ 6x ) |16x 18x ) [24«x o+ h
4 3x 2 3+ 1 o+
1- 10+ 3+ O+ 4+ 12x
3+ 1- 1-

- J \\ J U J
T+ 2+ [ 7+ 2+ ) [3+ 7+ )
4+ 3[6x||1- 43| [4+ 3 [+

1-17+ ox | 8+ 7+ | Ox
4+ o+ 1-
- J J _J
) ) )
- J J _J




}L B%E’_:EE, }L /\I. 4x4, 3 stars, Full Math Operation
Ax 12x] ) [16x 7+ ) [5* 12x] )
3 4+ 11 3 3-11 3 4+
o+ 8+ o+ 8+ 1- 12x
o- 2+ b+
- J \\ J \\ J
T- -7 ) [ 8« 3+ [2: 3+ )
1- 4 11-111- 115+ ]| 1- 1 |5+
4+ 112x 3x |8x 3+ |8x
B+ 2+ 2+
G J J U J
) ) )
o J U J U J




}L B% }L E ’ }L /\I. 4x4, 4 stars, Full Math Operation
O+ 7+ ) [24x 8+ ) [8«x 7+ )
3 3+ 1 2+ || 4 2+
2x O+ 2+ Ox 3+ 7+
1- 1- 1-

- J \\ J \\ J
1- 2+ |2+ -1 )| 6« 4x | )
3- 311-1] 3x 4 15+] |5t 2| 1-
ox | 7+ 2+ | 8+ 2+ | 7+

4+ 2+ o+
o J U J U J
) ) )
o J U J U J




}L B% ﬁ ’EEE, }L /\I. 4x4, 5 stars, Full Math Operation
Ox 12x Y |12x 6+ ) [24x /+ )
7 5+ [ 4 2+ 1 Ox
2+ 7+ 1- 8+ - 8+
o- o+ o+
- J U J \_ J
p 6x )| 6x 4= Y| 1- 4x | )
1- 1T 11-112+ 3|1 1-1]|2+ 3| 2-
2- | 8+ -7+ T- 6+
2+ 1- 1-
o J L J _J
) ) )
o J L J _J
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